Dividing by 4 or 5

Roy is packing apples for 4 gift
boxes. How many apples should
he pack into each box?

We want to know how many apples -,
Roy should pack in each box. S AN

There are ___ apples.
Roy is packing ____ boxes. AT

To find the number of apples for
each box, we divide by

in all boxes in each - i
«— quotient [ ':
24 + 4 = ___  or 4)24 diidend ﬁ ‘ S
T ™ T _ T Pl ]
dividend divisor quotient divisor

Roy should pack ____ apples into each box.

Getting Started

Divide.
1.36 +4=_____ 2 4B bel So 3. 165+ d= . 4. 20 5=
5. 5)30 6. 412 7. 4)36 8. 5)10

9. 432 10. 515 11. 4)8 12. 5)35



